


FORM 3 MWAKICAN PHYSICS PRACTICAL MARKING SCHEME
1.
	LENGTH(L)
	CURRENT(A)
	VOLTAGE(V)
	V/I

	0.1
	0.75
	2.20
	2.93

	0.2
	0.5
	2.30
	4.60

	0.3
	0.35
	2.40
	6.86

	0.4
	0.25
	2.45
	9.80

	0.5
	0.2
	2.50
	12.5

	0.6
	0.15
	2.55
	12.75

	0.7
	0.1
	2.65
	17.67



III) AS L increases the ratio of V to I increases (1mk)
iv)d=0.30mm 1mk   
=3.142(0.15)2	1mk
=7.065 x 108  	1mk with correct units
v)-labelling axis 1mk
[bookmark: _GoBack]    -appropriate scale 1mk
  -plotting 6-7 pts 2mks
	  3-4 pts  1mk
	1-2 pts 0 mk
· Graph is a straight line 1mk
Vi)  v/I
    =5.6 	1MK
L=	1.8/5.6
=0.32 A	1mk
(viii)slope=2.75 1mk
P=slope X A
=27.5 X 7.065x10-8 Ω  	1mk
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b = 4n
slope v 1mk

= 987.2 s’cm’
or9.87 m/s> v 1mk

Significance- it is the acceleration due to gravity v’ 1mk
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QUESTION 2 ( 20maks)

«(c) the values in the table are tentative ( mark students values within the
L' Length I ’cm f Time for 20 oscﬂla’ucns Penod T ] T’(s )
{80 36.15 181 | 3.28 1
i 70 : 3349 ! 1.67 i 2.79
L 60 3117 1.56 243
|50 28.48 1.42 2.02
QUESTION 2 ( 20maks)
.(c) the values in the table are tentative ( mark students values within the range)
| Yength I{cm) |_Time for 20 oscillations| Period T | T%s)
i 80 36.15 1.81 1 3.28 .
} 70 T 3349 ! 1.67 | 2.79
L 60 31.17 1.56 2.43
50 28.48 1.42 2.02
40 25.49 1.27 | 1.61
I 30 | 21.96 Vil 121
I 20 i 18.12 i 0.91 0.81
3mk 3mk 3mk
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A ! ]
N 2 EEsatr 7
A : T i
Ll T
Y HE HT i
H fiEsE =
Exaasa ! =5 : — :
fina Himmars
ias
us T
Lem
Scale 1mk
Axis 1mk
Plotting points all 2mk
Line straight 1Imk

slope- derived from the graph v' 1mk
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